Aufgabe 1 Aufgabe 2 Aufgabe 3
4x-1 1 35x—6)—(x—=7)+2=13x-2(x+10)+29 | 3 7x+6
=% - =5x-3(x+3
2 6 15x—-18—-x+7+2=13x-2x—-20+29 4 ( )
1 _
(4x—1):z.g 14x-9=11x+91-11x 0’75x+7)c+6:5x_3x_9
5 3x-9=9149
dx—1==1+1 .
x-l=gl+ 3x=181:3 0.75x+ 218 51 _91-0,75x
4x=314 x=6
6 1 P TXH0 ) asx—91%15
8 4
YT Tx+6=15%(1,25x-9)
Lo 8el Tx+6=18,75x—1351-7x
?'4 6=11,75x—1351+135
x=3=033 141=11,75x1:11,75
P Aufgabe 4 x=12
Lo 35x—6-x—-T7+2=13x—2x+10+29 P
== 34x—11=11x+391+11
6 6 3 7#1246
34x=11x+501-11x 7 R4 =712 =302+ 3)
23x=501:23 9+6=60-45
x=217 15=15
P
35%2,17—-6-217-7+2=13%217-2%217+10+29
62,78 = 62,87
0.k.Rundung
Aufgabe 5

3[(5x—6)—(x—T7)]+2=13x—[2(x+10) +29]
35x—-6—x+7]+2=13x—-[2x+20+29]
3[4x+1]+2=13x-2x-20-29

12x+3+2=11x—-49

12x+5=11x—-49 | -11x

x+5=-491-5

x=-54

P:

3A[(5*(—54)—6)— (54 -T)]+2 =13*(-54) —[2(-54 +10) + 29]

— 643 = —643

Aufgabe 6

2x—1

Aufgabe 10

(1,22+2,7x) 2-(1,5x—0,525):7,5=11,01 +1,5
2,44 + 54x —0,2x + 0,07 = 11,01 + 1,65x — 4,95
2,51 + 5,2x = 6,06 + 1,65x | —1,65x

2,51 + 3,55x = 6,06 |—2,51

3,55x = 3,55 | : 3,55

(1,1x-3,3)

X=1

P:

(1,22+2,7) 2-(1,5-0,525):75=11,01 +1,5 (1,1-3,3)
7,84-0,13=11,01-3.3

7,71 =771

+4x=é*(2x—l)*6
2x—1

+4x=02x-1)1*4

Rx—-D+4*4x=4*2x-1)
2x—1+16x=8x—-4
18x—1=8x—41-8x
10x—-1=-41+1
10x=-31:10
x=-0,3

P:
2%(-0,3) -1
—
-1,6=-16

+4*(—O,3):é*(Z*(—O,3)—l)*6




Aufgabe 8

3,5%(20,5x—-315)+107,5=72,5x—

61,5x2—410 .

2#%35%(20,5x-315)+2*107,5=2*72,5x - 61,5x+410
143,5x—2205+215=145x-615x+410

Aufgabe 12
%(x—O,S)—(3x+ 2)= 142% :5-4-1,511+6x)

8x—4-3x-2=28,5-4-16,5-9x
5x—6=8-9x|+9x

143,5x—1990 = 83,5x +4101+1990 14x—6=81+6
143,5x = 83,5x + 24001 -83,5x 14x=14114
60x = 24001: 60 x=1
x=40 p:
P: %(1—0,5)—(3*“2)=142%:5—4—1,5(11+6*1)
& —
3,5%(20,5+40~315)+107,5 = 72,5+ 40— 2740410 0
1875=1875
Aufgabe 7
20*(%x+3j+6—80x _ 965 10x+80
1054604+ 3740 _5¢ 5 10x+80
Aufgabe 9 20x+120+3—40x=53—-10x—80
5(7x+348) | —20x+123=-27-10x1+20x

752x+3)+(Gx-4)*12-33+4x)-CBx+1) *1,5=

2 123=-53,5+10x 1427
15x+ 22,5+60x—48—9—12x—4,5x—1,5:35x—;174 150=10x1:10
x=15
58,5x—36 =214 49 P
117x-72=35x+1741-35x 210-298,5=26,5-115
82x—72=1741472 —885=-885
82x = 2461: 82
x=3
P:
£
7,5(2*3+3)+(5*3—4)*12—3(3+4*3)—(3*3+1)*1,5:uf“’g)
67,5+132—45-15=139,5
139,5=139,5
Aufgabe 11

2,5(x=9)-1,25*3,2x - (18,7 +12x) = 1,9(x + 0,4) — 4(4,8x — 0,91)

2,5x-225-4x—-18,7-12x =1,9x+ 0,76 —19,2x + 3,64
—-13,5x-41,2=-173x+ 4,41 +17,3x
38x—-41,2=4,41+41,2

38x=45,61:3,8

x=12

P:

2,512-9)-1,25*3,2*%12-(18,7+12*12) =1,9(12+ 0,4) — 4(4,8*12-0,91)

7,5—-48-162,7 = 23,56 — 226,76
—203,2 = -203,2




